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SCHOLARS ACADEMY

(a)
(@]

(a)

(@]

[ ENGLISH ]

Direction: Choose the option that is the passive
form of the sentence.

The class teacher was taking the children to the
Zoo.

The children willgoto  (b)
the zoo by their class
teacher.

The children being (d)
taken to the zoo by

their class teacher.

The children can be
taking to the zoo by
their class teacher.

The children were being
taken to the zoo by
their class teacher.

Direction: In the following sentence, a part of the
sentence is underlined. There are some alternatives
to the underlined part which may improve the
sentence. Choose the correct alternative. In case no
improvement is needed to choose ‘No
improvement’ as your answer.

Experts had say that people (adults) need at least 6
hours of sleep every night.

have been saying (b) say

saying (d) No improvement

Direction: Select the most appropriate antonym of
the given word.

IRRELEVANT
immaterial (b)  trivial
pointless (d) consequential

Direction: Select the most appropriate antonym of
the given word.

ADMONISH
applaud (b) scold
chide (d) warn

Directions: The question below comprises four
scattered segments of a paragraph. Identify from
among the four choices the sequences that
correctly assemble the segments and complete the
paragraph.

A. Mr D Gautam's personality sets him apart the
rest.

B. Nothing is too small for his attention

C. He has a fanatical devotion to detail.

D. This is what makes him a different guy.

ACBD (b) ABCD
BDCA (d) DCBA

Direction: Choose the option that is the indirect
form of the sentence.

| told them to be quiet.

| told to them, “You
must be quiet.”

| said to them "Be you  (b)
quiet!”

| said to them, “Be (d) I said them, “You be

(a)
(@]

(a)
(@]

10.

(@]

11.

12.

(a)

(@]

13.

(a)

quiet!” quiet.”
Select the wrongly spelt word.

Occurring (b)  Exprimant

Sediment (d)  Umbrella

Direction: In the following question, out of the
four alternatives, select the word similar in
meaning to the given word.

Serene
Calm (b) Delicate
Meek (d) Solemn

Direction: In the following question, out of the
four alternatives, select the word similar in
meaning to the given word.

Engross
Dismiss (b) Oppress
Absorb (d) Endanger

Direction: In the following question, out of the
four alternatives, select the word similar in
meaning to the given word.

Bravery
Onslaught (b)  Arrogant
Fortitude (d) Nepotism

Direction: Select the alternative that will improve
the underlined part of the sentence in case there is
no improvement select “No improvement”.

It has been raining very hardly since morning.

is been raining very (b)
hardly

has been raining very (d) have been raining very
hard hardly

No improvement

Direction: Given below idioms/phrases followed by
four alternative meanings to each. Choose
whichever is the most appropriate meaning and
mark your answer.

Open a Pandora's box

To do something that  (b)
causes a lot of new
problems that you did

not expect

To do something out of
compulsion

To do something (d)
beyond expectation

To do something out of
the box, that causes
awards and ceremonies
for you

Direction: Given below idioms/phrases followed by
four alternative meanings to each. Choose
whichever is the most appropriate meaning and
mark your answer.
Pull your socks up

To get well - dressed (b) Improve your work or
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SCHOLARS ACADEMY

14.

(a)
(@]

15.

(@]

16.

(a)

17.

(a)
(@]

18.

(a)
(@]

19.

—
(o)

)

for the occasion behaviour

To be in control of an
organization, often
secretly

To speak in an honest (d)
way without hesitation

Direction: Choose the appropriate word to fill in
the blank.

The__ of strange and unfamiliar dialects at the
market held my interest.

racket (b)  rumble

clanging (d) babble

Direction: Select the word which means the same
as the group of words given.

A room or building with equipment for doing
physical exercise.

Dormitory (b) Convent

Infirmary (d) Gymnasium

Direction: Select the word which means the same
as the group of words given.

Extreme fear of confined places.

Cellophobia (b)
Chronophobia (d)

Claustrophobia
Centrophobia

(17 - 21 )Direction: In the following passage, there
are blanks, each of which has been numbered.
Choose the correct word from the given options
which fits the blank appropriately.

Agriculture has often been conceptualized
narrowly, __ (1)__ specific combinations of
activities and organisms: wet-rice ___(2)___ in Asia,
wheat farming in Europe, __(3)__ ranching in the
Americas, and the like, but a more holistic
perspective holds that __(4)__ are environmental
engineers _(5)_ disrupt the terrestrial habitats in
specific ways.

Which of the following words most appropriately
fits the blank numbered _(2) ?

making (b)

production

inventing (d) preparing

Which of the following words most appropriately
fits the blank numbered _(5) ?

whom (b)
who (d)

whose
which

Which of the following words most appropriately

fits the blank numbered _(1)_?
in spite of (b) instead of

in terms of (d) in front of

Which of the following words most appropriately
fits the blank numbered _(4)_?

humans (b)
cattle (d)

animals
crops

21.

(a)

22.

26.

(a)

Which of the following words most appropriately
fits the blank numbered _(3)_?

dairy (b)
tree (d)

agriculture
cattle

Direction: In the following question, the given
sentence has four parts marked P, Q, R, and S.
Choose the part of the sentence with the error and
mark it as your answer. If there is no error, mark
'No error (S)' as your answer.

We have issued (P) / a order seeking immediate
(Q) / printing of revised price tag. (R) / No error
O]

P (b) Q

R d)y S

Direction: Fill in the blanks with the most
appropriate word out of the four alternatives
suggested below each question.

Where thereisa ____, there is a way.

way (b) road
wing (d) will

Direction: Fill in the blanks with the most
appropriate word out of the four alternatives
suggested below each question.

My grandfather walks very

quick (b) fastly
fast (d) nice

Find out that word, the spelling of which is wrong.
Shallot
Shellac

Sargeant (b)
Shackle (d)

[ REASONING ]

ez 39 faweu &1 9= B3 ot JRt spfar 9 St
TPR Teftd § 99 gud onpfa ugel snepfa @
wafta B

Direction: Select the option that is related to the
third figure in the same way as the second figure is
related to the first figure.

AN/ ALY E

(b)
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27.

(a)

28.

(a)

29.

(@]

30.

(a)
(@]

31.

(a)

32.

frézr: 39 fawey &1 999 &3 ot I enpfa | St
TPR Wt 3 99 gudt anefa uge ompfa @
wafta 31

Direction: Select the option that is related to the
third figure in the same way as the second figure is
related to the first figure.

BUEO ] - [ L

At T

§_NEEN] (b [CCHEIL

ST

(d) |LHLLLL

fAder: 39 JeR-THE BT 9UT BN, S < TS 3&R-
TYE 3 A0ft ¥ wyaras g (2) & = W AT
Direction: Select the letter-cluster that can replace
the question mark (?) in the given letter-cluster
series.

TRKM, XVIK, BZGI, ?, JHCE

FEGG (b) FDFG
FDEG (d) EDFH

TP H¢ WINT H, PREVENT &I OSDWDOS & &J |
fore sram 31 99 W1 § WITHOUT &9 forar s
|l 82

In a code language, PREVENT is written as
OSDWDOS. How will WITHOUT be written in that

language?
XJSINVS (b)  VJRINPT
VJSINVS (d) VJQINZS

oz Fafafea Jear A vyame e > FR_FA W
T ST ?

Direction: Question mark in the following series?
What will come in place of ?

8,28, 73,153,?

278 (b) 216

218 (d)y 212

Az Fafafea go & yyaree fug > & /A
U T 3TEm?

Direction: Find the question mark '?
following series. What will come in place of?
23, 25, 30, 40, 57,7

73 (b) 79

77 (d)y 83

e TP T & TS B Uy i H guig MY
IR TIST 3R PIeT ATl 81 Wia & 91 98 foby
IR TPl & FHM fe@rs

Direction: A piece of paper is folded and cut as
shown below in the question figures. From the

in the

(a)

34.

(a)
(@]

35.

(a)
(@]

36.

(a)
(@]

given answer figures, indicate how it will appear
when opened.

(b)

Direction: Choose the options figure in which the
problem figure is hidden/embedded.

Question Figure:

T

A&

69 YT9T ®, ‘ROLLER’ &T Fe ‘TQNJCP' ferar
1T 8, df 39 HTT # ‘DOCILE’ &) fhyg yoR forar
ST

(d)

In code language, ‘ROLLER’ is written as ‘TQNJCP’,
then how will ‘DOCILE’ be written as in that

language?
FPEHID (b)  FPFGIC
FQEGIC (d) EPFGKD

g A dAf "x v, BUBTHF -, " CUPT
7+, 3R " D~ P13 7+ gRITAT AT 9T 4
A7 C 2B 27 D 3? &1 HF J1d $IfoE|

If * A" denotes " x “, " B “ denotes " - “, "C ”
denotes ” + “ and "D “ denotes ” + ", then find the
valueof 4A7C2B27D3?

19 (b) 21

26 d)y 17

fafifed o & Tgelv & P F AIER
[afyd Sifo |

Arrange the following words as per order in the

dictionary

1) Direction 2) Directed 3) Director 4) Directing
1,4,32 by 2,4,1,3

4,2,31 d 41,23
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SCHOLARS ACADEMY

40. TP § UM F A I@-I@ W fG@n T
37. gfe YordR Y aewr 3mg & 6 a¥ gerdn &l § SR R dcsrae @146 A fR@U M EI '5'F
ﬁqﬁmﬁﬁuﬁa%mm% IS U 3T fardia e W w1
CARCRUIC] S YISl Eﬂ?ﬁ % qﬁ 3T II%QT ¥ 2 qf Three different positions of the same dice are
aﬁa%ﬁmﬁ 35 a’ﬁf% @ YoredR #t B{TQEPJT%’ shown, the six faces of which are shown in
If 6 years are subtracted from Randhir's present numbers 1 to 6. What will be on the face opposite
age and the remainder is divided by 18, the '5?
present age of his grandson Anup is obtained. If 2 5 4
Anup is 2 years younger than Mahesh whose age is
5 years, then Randhir's age is What is? 1 6 6 8 3 !
(@) 96 TN 96 years (b) 84T 84 years
() 48 TH 48 years (d) 60T 60 years @ 3 (b) 1
38. fdzm: fRw U = @y iR el &) wrgds © @2
ufed I Ta9 Y T @ freed g ™ a1, Pz of &1 wrgde srwraa X IR @ afur
FYAI BT AfbD U T IR HIal 3| SR
DY: Direction: Study the image carefully and choose
o faemay, W gl . the correct mirror image.
PO Helfaeay, faemey 1
e
I. $ HETfaeey, W g1
Il. $ HgTeey, W 8 g
Direction: Read the given statement(s) and
conclusions carefully and select which of the N
conclusions  logically follow(s) from the
statement(s).
Statement:
Some schools are houses. (a) (b)
Some colleges are schools.
Conclusion:
I. Some colleges are houses.
1. Some colleges are not houses. © (d)
(a) P MTWUIIAL (b)) P Il STHRY BT 3
Only | follows Only Il follows 42 A gsemugfusiRRemuats s
(© Tral il SIERoT d TdARTN T9Y 1 Il fAequr HRar 21
AT § Either | or |l SFTERT FHRl § Neither a9 g7, frar, frer
follows I nor 1l follows Direction: Identify the diagram that best
represents the relationship among the given
39. ﬁﬁ'ﬂ: Bfa &1 %m:n{q% AT HY MR ﬂ'{ﬁ a‘lfUT classes.
@'ﬁﬂﬁl Musical Instruments, Piano, Guitar.
Direction: Study the image carefully and choose
the correct mirror image. @
: @D @D
B © @
2 /\® e /\® . W s B yETd SR T @
: . B # HEUH BIfSA PTG, + B &
. e’ %wﬁaﬁ%aﬁmw?.laa 63%9#11
(@ () @ 21 & 17 BT HM FId BIfOQ|
e/\@ B/\@ If,” +"iscodedas ‘%', ' x"'iscodedas‘#', ' +"is
codedas ' &', ' - “is coded as * @ ’ then what is the
y . valueof 63%9#11 @ 21 & 17?
© yd d 7 (@ 73 (b) 66
(o 82 (d) 67
Mob. - 01141676717,9312712114
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SCHOLARS ACADEMY

4. PTG S ogpa A A s w1 & T
HHIHU Bt Hgl Td A T P b fog = Bl
wfereafia Hem?

Which of the following sequences of signs would
replace '*' to correctly solve the given equation?
14*24*3*5%3+*7

(@) +, %, -, X, = (b) +, 5, X, -, =

(© =+, +,x,-= (d) +, %, + - =

45. fad=r: fRu v foweul & & foww =g/ SieR e
/S g giHg|

Direction: Select out the odd word/letters/number
/number pair from the given alternatives.

(@) 85431 (b) 23870
() 99300 (d) 11559

46. TS ATpfa & fpet Fryer &

How many triangles are there in the given figure?

@@ 12 by 14
(o 13 dy M

47. 1 WG 2009 H IAAR 21 df - a9 A 1 B

5 A MR = g
It is Sunday on 1 February 2009. So in which year

will 1st February fall on Sunday again?
(@) 2014 (b)y 2015
(c 2016 (dy 2017

48. MR 74 $ 12 @ 21 =65,47$23@13=57?ﬁ,
BT HH gN:
If74$ 12 @ 21 = 65, 47 $ 23 @ 13 = 57 then what
is the value of

48$13 @ 28
@ 32 (by 34
(0 23 (d)y 33

49. feu T wfiwRu # Adgfea w1 & fo + g &t
iRl $37 F g Hdal & T8 gHd B
T Pifod |
Select the correct sequence of mathematical signs
of replace the * signs so as to balance the given

equation.

40*5*6*2*10=10
(@ -+x+ b) x++-
(€ ++x- d)y =+ x+-

50. P, QT T &, Af= Q IHSTGA T 81 5, P Y et
BIR SHTYARI Q, s A HA Wafua 2
P is the father of Q, but Q is not his son. S is the
wife of P. R is the son of S. How is Q related to S?

(a) ﬂ-ﬂ'ar' Brother (b) ELl| Daughter

(© Ol Father @ e 7Et fearon
qohdl %’ Cannot be
determined

[ Quantitative Aptitude ]

51. HTYRUI TSl W U Y=R1T 4 99 & 850 ¥UF iK% 3
a9 F 800 ¥ § | YRTI &:
A sum of money at simple interest is worth Rs 850
in 4 years and Rs 800 in 3 years. The amount is:

(@ 650 ¥TT 650 rupees (b) 750 ¥T 750 rupees

(c) 720 I 720 rupees (d) 800 I 800 rupees

52. fadwr: fufafaa @rsa ww o 1995- 2000 #
Ay F IR by gRY 3ifvfa arfife ufowra @y

SaTgl

U U g Tt il # aifefa wiorera T
L. .
g
% 0l s -1:
95 1996 1:;2; 1998 1939 2000
fow e quf # sifefa e ufawra ey s &2

(@) 50% % (b)  55%%
() 56%% (d) 52%%

53. 14 9 O a9 TP JHNA FT $a YT AAEA
fpam g
What is the total surface area of a hemisphere of
diameter 14 cm?

(@) 462 I’ 462 cm? (b) 1232 JHI* 1232 cm?

(c) 1848 9 1848 cm? (d) 308 TH 308 cm?

54. TS HHIS BT HY Yo 262.40 FUY ¢ | IR eI W
18% Q< &4 & TIg 14% WY W $34 F fw 9
e gea wR sifed foar sm anfee
The cost price of one shirt is Rs 262.40. At what
price should it be marked to get 14% profit after
giving 18% discount on the market price?

(@) 364.80 FTUT Rs364.80 (b) 356 BT Rs 356

() 358403UYRs35840 (d) 352 BT Rs 352

ss. /T ST HH T 8?2
(@) 49 by 7
© 7 d TTHIADE NS

none of these

56. feama witewur 31a Fifve RrasTTs ga 5 - 27582

Mob. - 01141676717,9312712114
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(a)
(@]

58.

(a)

59.

(a)
(@]

61.

(a)
(@]

Find the quadratic equation whose one root is 5 —
2V5?

X +10x+5=0 (b)
x*-10x+5=0 (d)

gfe TP 3R TQ, 0 F% a1 g« Ft & W=l Y@¢ §
afs 2P0OQ = 110°, R LPTQ F R &:

If TP and TQ are two tangents to a circle with
center O such that LPOQ = 110°, then 2PTQ is
equal to:

x> -5x+10=0
x> +5x-10=0

60° (b) 70°
80° (d) 90°
cos 30° —sin 307
sin 60°+cos 60" T HHE J1d aﬁﬁQ|
2-43 (b) 2++3
1-43 (d) 1+V3

48 BT aTelt TP BT BT NI aoi 36 el g1 afg
1&g/ 3R FUTATATIS FT I A fHar S 31
a o 36.76 el g wiem g1 °f e SR
YUTHTATIS & o HT AR 14 BHord |

The average weight of a class of 48 students is 36
kg. If the weight of teacher and headmaster is
included. So the average becomes 36.76 kg. Then
find the sum of the weights of the teacher and the
headmaster.

108 foal 108 kg (b) 112 fFar 112 kg
110 f&al 110 kg d) 114fFar114 kg

frém: fafafad uy & IR 33 F e s =rd &1
HATYAD T v

UTs d1¢ WERTY & 4 W A COVID-19 / Hepfhd
feRTa) $ G i gufar 2

HERTY # HspfHa saferal @1 $o UST = 30,00,000
ARTQR 3R A1RI® # covID-19 | THia @ @
e e fat 82
4,50,000 (b)
7,50,000 (d)

A 10 3= # T & &% 9Far ¢ R B 39 15 a1
# 3 Ppal g1 i I TP Y HH HId € o B
R B4 F forg i 9t v &
A can do a work in 10 days and B can do it in 15
days. If they work together the number of days
taken to complete the work is:

6 f& 6 days (b)
7 &7 7 Days (d)

6,75,000
6,60,000

9 f&9 9 days
5 f& 5 days

62.

(@]

63.

(a)
(@]

67.

frdm: & € arfereT &1 wTYd® Srena SR qur
= fou usi & IR il
fafir 7 & R R dex § ga @ral at

FafafEa ¥ 3 fra a8 ¥ ga T« $t I=m a1

3Na 3ifrpay 2
Y[ june b) Ra=R September
ST august (d) IIEE May

3l YFTHS ISl BT UG 1344 § R ITABT
3T 7: 12 81 390 | B W= #1987

The product of two positive numbers is 1344 and
their ratio is 7 : 12. Which of these is the smallest
number?

16 (b) 28

112 (d) 48

U B4T8 Wg™ 4 °e # 250 fPHi/ae ot nfa ¥ e
¥ g&t aa HRar g1 1 69 8 40 e & wu= gt
Pl a9 B & g, gt a1 L Ae?
An airplane covers a certain distance at a speed of
250 km/hr in 4 hours. To cover the same distance
in 1 hour and 40 minutes, what should be its
speed?
500 fei/Gd 500 km/h  (b) 550 fasHfl/Eic 550 km/h
600 fHl/eic 600 km/h  (d) 675 faHl/EC 675 km/h

A §id o e afe
tan 3z = sin 45" cos 45° + sin 30° g,

15° (b) 30°
10° (d) 20°

TP GBI ¥ Ugd 20% &1 HHt g3 3R R 10% 1
g3 g3 | T W& YA TBAT A 12 FH 2| Y& I=
1 E?

A number first decreased by 20% and then
increased by 10%. The number obtained is 12 less
than the original number. What is the original
number?

200 (b) 100

400 (d) 80

TP AYs & &4 o 5 siearei &1 9 g9
FifoTe fraat Y=g 11 I, 60 T 37T 61 A 71
Find the sum of the cosines of the three angles of a
triangle whose sides are 11 cm, 60 cm and 61 cm.
59/60 (b) 60/61
71/60 (d)y 71/61

fe TP do B YR Bt Brear 64 ok F=rE
799 8, A SHPT AT I PO

If the radius of the base of a cylinder is 6cm and
height is 7cm, then find its volume?

X Ca)
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SCHOLARS ACADEMY

(a)
(@]

69.

(a)

72.

(@]

73.

(a)

74.

(a)
(@]

75.

(a)

521 IHE /em?
729 9HP /cm3

821 THP /em® (b)
792 91 /em? (d)

m?ﬂ?crﬁ- VBT6 x 12 — 864 = 36 =? 1+ 61

V676 x 12 — 864 = 36 =7 + 61

Simplify:
234 (b)y 227
244 (d)y 256

e x = 2 1 + 275 + 243x + 631 BT HMA ©:
If x = 2 then the value of x°> + 27>% + 243x + 631 is:

1211 (b) 1231
1233 (d)y 1321

T Afa® 17.25 e & g 15 feft a0 &
ufagpd 3T 8.5 fiFe & T uRT & ergea fozm &
Taar 8 | FRR e # safed &t wfa w1 82

A sailor rows 1.5 km upstream for 17.25 minutes
and downstream for 8.5 minutes. What is the
speed of a person in still water?

8 fooei/Eie 8 km/h (b) 2.2 fEH/EE 2.2 km/h
16 fpHI/8e 16 km/h d) 4 feH/Ee 4 km/h

TS 319 d9-gug 3a- @t Hars wadl 31 afg suer
urffa gii eaa 9% oo g AFwd BT YT
g, 0 39P YR P Beun fra @2

The height of a solid right circular cylinder is mcm.
If its lateral surface area is half of its total surface
area, then what is the radius of its base?

/29" /2 cm b) TIH mem
1/m Y 1/11 cm d) 2/maH 2/mem

Yd 3R dig & 1 feanm fasor §, 20% g 71
frat Ya frard st ifge a1 e @1 U
10% B SITQ?

In 1 kilogram of mixture of sand and iron, there is
20% iron. How much sand should be added so that
the proportion of iron becomes 10%?

2 fpaum 2 kg (b) 1.5 foramIH 1.5 kg
1 foramId 1 kg (d) 0.5 franmd 0.5 kg

A, B, C, D 3R E & 3Id 31T 40 T 81 A 3R B #t
3RTa 3 35 99 § S¥ C 3R D I 3iia 3y 42 T
%I EH&B’H%:

The average age of A, B, C, D and E is 40 years. The
average age of A and B is 35 years and the average
age of C and D is 42 years. The age of E is :

46 (b) 48
32 (d) ﬁﬁﬁaﬂ%:‘lﬁ none of
these

2,3, 4,5 3R 6 ¥ ATy 4 sil Ft Ao v} T@n
T

What is the largest 4 digit number divisible by 2, 3,
4,5 and 6?

9,810 (b) 9,870

(@]

76.

(a)

(@]

77.

(a)

(@]

78.

(a)
(@]

80.

9,960 (d) 9,999

[ General Awareness ]

fFafafea § 4 f$a sri® 9% gRT WRa &1 i
Which of the following was called as Economic
cabinet of India by Ashok Chandra?

ST STIRT Planning (b) faq SMINT Finance

Commission Commission

Horg HEAHSd Central  (d)  VRINM® YR SN

Cabinet Administrative Reform
Commission

EG] mi’g? WRuE & fhan um, sgwe R

How many Parts, Articles and Schedules was there
in the original Indian Constitution?

22 YT, 395 3JwG AR (b) 24 YT, 450 3G 3R
8 Il 22 Parts, 12 3FIYfrdi 24 Parts,
395 Articles and 8 450 Articles and 12
Schedules Schedules

22UFT, 390 ™ 3R 8 (d) 24 YT, 425 DG 3R
3l 22 Parts, 390 12 3FIYfAl 24 Parts,
Articles and 8 425 Articles and 12
Schedules Schedules

5 2ER B 'URT FT 3ATRIP g el ATaT &2

Which city is known as the 'Electronic City of

India™?

H'E'st Mumbai (b) BRI Hyderabad
TSMd Guragon (d) STER Bangalore
e ® | 5 w A, Wiy 3 ik veaivE w1gH
T B

Which of the following holds the ROM, CPU, RAM
and expansion cards?

BTS f&% Hard disk (b) T e Floppy disk
TR §18 Mother board (d) mﬁﬁaﬁgﬁ

None of the above
P R A for =) ) geTae Afeai 32

Koyna and Musi are the tributaries of which river?

(a) IIEFEP[ Mahanadi (b) MeTaRl Godavari

(¢) P Krishna (d) B Cauvery

81. ¥ T PR 7 gErw= smd AR st 3=
fear 82
Which  state government has launched
Mukhyamantri Atma Nirbhar Abhiyan?

(@) VUG (b) HAU

Chhattisgarh Madhya Pradesh

() ord (d) g

Assam Odisha
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82. AR It W@fr W fafew $w R Fw SR 89. BA gl # fdH &R U A 2024 7 o IRI BT
& dta gwer fey e 4 JTEH 9 HA o o foram 82
The 'Treaty of Mangalore' was signed between the Which car company has recently decided to stop
British East India Company and . the production of diesel cars by 2024?
(@) FRETE & e (b) 'Cﬁ'q\ﬁc_dﬁ Tipu Sultan (@ Audi (b) Ford
Nizam of Hyderabad (0 BMW (d) Volvo
(c) TSN X0 Il Baji Rao Il (d) 3fbic HTTaTd Nawab
of Arcot 90. ﬁaﬁ?;amﬁmeﬁﬁﬁaﬁﬂ%mﬁg'%mﬁ
83. frufafea o @ AT qH el Bt W[%'!ﬂ Ca| Who among the following nationalist leaders was
?{‘x’l‘fﬂT%’ popularly known as 'Deshbandhu’?
Which of the following pairs represents the units (a) CIETHTS RIS (b) fIReA ™
of energy? Dadabhai Naoroji Chittaranjan Das
() O SRURBS Joule (b)) BRI 3R Calorie (© SIYEN TS Ashutosh (d)  He Hig e
and Pascal and Joule Mukherjee Madan Mohan
(© R AR TR Weber (d) IR dlee 3R YD Malaviya
and Ampere Y Electron volt and
Light year 91. fFua YT F1 e e 37
Whose autobiography is titled ‘Gol'?
84. Yt BT Hd g1 yRfRUfaat = &: (@) HOR HFEG Major (b) SIS YfeAT Baichung
The largest ecosystem of the Earth is: Dhyanchand Bhutia
(@) SilgHSd Biosphere (b) SITHUSA Hydrosphere (¢ Ud Pele (d) Sfds IHeH David
(0 RaHed Lithosphere (d) SRIH Biome Beckham
85. & A o Wt ve dger o) faivar A8 82 92. WHSW & GIANI Hd B A2
Which of the following is not a feature of a Who was the court poet of Samudragupta?
computer? (@) dIUTHS Banabhatta (b) Bﬁ@‘[ Harishena
(a) T Speed (b) R Storage () TGERET Chand Bardai (d) Y4 Bhavabhuti
(©  3ITaRIT Economy (d) fIyT-Tad Reliability
93. & A f5d HINFIY uwpw d Tt g1 F =0 o
86. P9 2027 # HiHe Tt IR faqTU= W SRS ST STl 82
PIUT B AT HEM? Which of the following is known, as energy
Who will host the International Congress on currency in the cellular process?
Cement Chemicals in 2027? (@) WRCIHISal (b) Studl DAP.
(@) HRd (b) S Mitochondria
India Germany (c) qﬂﬁmﬁ Alveoli (d) E.?ﬁ.tﬁ. AT.P.
() it (d) I TR .
Sri Lanka nobody 94. AT T &1 oY fra Isu A B2
Which state is associated with Sattariya dance?
87. TW & qePIIRU & R1C IwGT fbar s aren (a) O Manipur (b)  3RFH Assam
e uerd w82 (¢ 3NfSEm Odisha (d) IR YUY Uttar Pradesh
The primary substance used for vulcanizing rubber
is: 95. YRd U yHfRUE 34 §, f5a areiw ® fAfga &2
(@) SMIMIHTRSIHAEZS (b) SMSHUH Isoprene That India is a secular state is implied in the
Ammonium hydroxide phrase:
(© R 3iieass Zine (d) IR Sulphur (a) IS M Social (b) STfeRTl BT TR
oxide justice Dignity of the
individuals
gs. Fufafad & & #19 W1 3 wRA ot W@t & Ay (© fRufaa gama (d)  SHTRT 3R Yol P
W arem T FRa18? Equality of status AT Liberty of faith
Which of the following countries does not share a and worship
border with the Persian Gulf?
(@ S Iran (b) TP Iraq 96. T gt & fay fisT feaw wa wamar MO }2
(© UHe! 3RT Saudi Arabia (d) ST Jordan When has World Rhinoceros Day been celebrated
recently?
@ 19 RaweR (b) 20 RrawR
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45188 45189
© 21 Ra=R d) 22 RyamR
45190 45191

97. URA & Y e F 'qd &1 TAT" HgT TaT 82
Which city of India is known as 'The Athens of the

East'?
(@) TGX Madurai (b) SARIETG Allahabad
(c) PIfA Kochi (d) YUcHIPatna

98. T &1 ¥ frd Iy PR A PR WA gaurait
T “Taora e & U aoTa 97 UsheRur RE
fFar 2
Which state government has recently launched
instant birth registration for newborns in
government health facilities?

@ JRUY (b) BTG

Uttar Pradesh Chhattisgarh

(© HHYW ) ShfsEm

Madhya Pradesh Odisha

99. UNFCCC & 279 iy Siip & U (cop) &1

BSIET S T S AUT?
Which country was the host of the 27th
Conference of the Parties (COP) to the UNFCCC?

(a) U UAE (b) A Egypt

(©) SRR Australia (d) SN Brazil

100. A=A Afewa fEagy uiferdt & agd fraa ATTHa
%amuﬁaﬁ@mﬁm@ﬂ?uow many

medical device parks will be established under the
National Medical Device Policy?

(@ 2 by 3
(o 4 (d 5
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